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Course Aim/s:

e To give an overview of the problems facing a financial manager in the commercial
world.

e It will introduce the concepts and theories of corporate finance that underlie the
techniques that are offered as aids for the understanding, evaluation and resolution of
financial manager’s problems.

Learning Outcome/s:
e Provides support for decision making.
It enables to monitor their decisions for any potential financial implications and for
Lessons to be learned from experience and to adapt or react as needed.
To ensure the availability of timely, relevant and reliable financial and nonfinancial
Information. FM helps in understanding the use of resources efficiently, effectively and
economically.
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UNIT 1

MEANING OF FINANCE

Finance may be defined as the art and science of managing money. It includes
financial service and financial instruments. Finance also is referred as the
provision of money at the time when it is needed. Finance function is the
procurement of funds and their effective utilization in business concerns

Definition:

According to GUTHMANN and DOUGALL, business finance may be broadly
defined as “the activity concerned with the planning, raising, controlling and
administering the funds used in the business.”

Financial decisions refer to decisions concerning financial matters of a business
firm. There are many kinds of financial management decisions that the firm
makers in pursuit of maximizing shareholder™s wealth, viz., kind of assets to be
acquired, pattern of capitalization, distribution of firm"s income etc. We can
classify these decisions into three major groups:

Investment decisions
Financing decision.
Dividend decisions.
Working capital decisions.

NATURE OF FINANCE FUNCTION:

I.  In most of the organizations, financial operations are centralized. This
results in economies.

Il.  Finance functions are performed in all business firms, irrespective of
their sizes /legal form of organization.

Il They contribute to the survival and growth of the firm.

IVV.  Finance function is primarily involved with the data analysis for use in
decision making.

V. Finance functions are concerned with the basic business activities of a
firm, in addition to external environmental factors which affect basic
business activities, namely,production and marketing.

VI.  Finance functions comprise control functions also

VII. The central focus of finance function is valuation of the firm. Finance
makes use of economic tools. From Micro economics it uses theories and
assumptions. From Macro economics it uses forecasting models. Even

though
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finance is concerned with individual firm and economics is concerned with
forecasting of an industry.

SCOPE OF FINANCIAL MANAGEMENT:

The main objective of financial management is to arrange sufficient finance for meeting short
term and long term needs. A financial manager will have to concentrate on the following areas of
finance function.

1. Estimating financial requirements:

The first task of a financial manager is to estimate short term and long term financial
requirements of his business. The amount required for purchasing fixed assets as well as needs
for working capital will have to be ascertained.

2. Deciding capital structure:

Capital structure refers to kind and proportion of different securities for raising funds. After
deciding the quantum of funds required it should be decided which type of securities should be
raised. A decision about various sources for funds should be linked to the cost of raising funds.

3. Selecting a source of finance: An appropriate source of finance is selected after preparing a
capital structure which includes share capital, debentures, financial institutions, public deposits
etc. If finance is needed for short term periods then banks, public deposits and financial
institutions may be the appropriate. On the other hand, if long term finance is required then share
capital and debentures may be the useful.

4. Selecting a pattern of investment: When funds have been procured then a decision about
investment pattern is to be taken. A decision will have to be taken as to which assets are to be
purchased? The funds will have to be spent first on fixed assets and then an appropriate portion
will be retained for working capital and for other requirements.

5. Proper cash management: Cash management is an important task of finance manager. He
has to assess various cash needs at different times and then make arrangements for arranging
cash. Cash may be required to purchase of raw materials, make payments to creditors, meet wage
bills and meet day to day expenses. The idle cash with the business will mean that it is not
properly used.

6. Implementing financial controls: An efficient system of financial management necessitates
the use of various control devices. They are ROI, break even analysis, cost control, ratio
analysis, cost and internal audit. ROl is the best control device in order to evaluate the
performance of various financial policies.

7. Proper use of surpluses: The utilization of profits or surpluses is also an important factor in
financial management. A judicious use of surpluses is essential for expansion and diversification
plans and also in protecting the interests of share holders. A balance should be struck in using
funds for paying dividend and retaining earnings for financing expansion plans.



EVOLUTION OF FINANCE FUNCTION:
Financial management came into existence as a separate field of study from finance function in

the early stages of 20" century. The evolution of financial management can be separated into
three stages:

1. Traditional stage (Finance up to 1940): The traditional stage of financial management
continued till four decades. Some of the important characteristics of this stage are:

1) In this stage, financial management mainly focuses on specific events like formation

expansion, merger and liquidation of the firm.

i) The techniques and methods used in financial management are mainly illustrated and

in an organized manner.

iii) The essence of financial management was based on principles and policies used in

capital market, equipments of financing and lawful matters of financial events.

iv) Financial management was observed mainly from the prospective of investment

bankers, lenders and others.
2. Transactional stage (After 1940): The transactional stage started in the beginning years of
1940“s and continued till the beginning of 1950“s. The features of this stage were similar to the
traditional stage. But this stage mainly focused on the routine problems of financial managers in
the field of funds analysis, planning and control. In this stage, the essence of financial
management was transferred to working capital management.
3.Modern stage (After 1950): The modern stage started in the middle of 1950%s and observed
tremendous change in the development of financial management with the ideas from economic
theory and implementation of quantitative methods of analysis. Some unique characteristics of
modern stage are:

i) The main focus of financial management was on proper utilization of funds so that

wealth of current share holders can be maximized.

ii) The techniques and methods used in modern stage of financial management were

analytical and quantitative.

Since the starting of modern stage of financial management many important

developments took place. Some of them are in the fields of capital budgeting, valuation models,
dividend policy, option pricing theory, behavioral finance etc.

ROLE OF FINANCIAL MANAGEMENT IN CONTEMPORARY SCENARIO:

B |
Sources of finance Finance

: Equity shares markets
Debentures
~  Commercial banks Capital /
5 Insurances Repayments._ interest and dividends \1? —
gOovt
= | CFO | =
B
Net cash flowf
invesynents
Investments in fixed -
and currents asstes

\



GOALS OF FINANCE FUNCTION

Effective procurement and efficient use of finance lead to proper utilization of the finance by the
business concern. It is the essential part of the financial manager. Hence, the financial manager
must determine the basic objectives of the financial management. Objectives of Financial
Management may be broadly divided into two parts such as:

1. Profit maximization
2. Wealth maximization.

“Wealth
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1 .Profit Maximization

Main aim of any kind of economic activity is earning profit. Profit is the measuring techniques to
understand the business efficiency of the concern. Profit maximization is also the traditional and
narrow approach, which aims at, maximizing the profit of the concern. Profit maximization
consists of the following important features.

1. Profit maximization is also called as cashing per share maximization. It leads to
maximize the business operation for profit maximization.

2. Ultimate aim of the business concern is earning profit, hence, it considers all the possible
ways to increase the profitability of the concern.

3. Profit is the parameter of measuring the efficiency of the business concern. So it shows
the entire position of the business concern.

4. Profit maximization objectives help to reduce the risk of the business.

Unfavorable Arguments and Drawbacks for Profit Maximization
The following important points are against the objectives of profit maximization:

(1) Profit maximization leads to exploiting workers and consumers.
(i) Profit maximization creates immoral practices such as corrupt practice, unfair trade

practice, etc.
(iii) Profit maximization objectives leads to inequalities among the stake holders such as

customers, suppliers, public shareholders, etc.
Profit maximization objective consists of certain drawback also:



(i) It is vague: In this objective, profit is not defined precisely or correctly. It creates
some unnecessary opinion regarding earning habits of the business concern.

(i) It ignores the time value of money: Profit maximization does not consider the time
value of money or the net present value of the cash inflow. It leads certain differences
between the actual cash inflow and net present cash flow during a particular period.

(iif) It ignores risk: Profit maximization does not consider risk of the business concern.
Risks may be internal or external which will affect the overall operation of the business
concern.

Wealth Maximization

Wealth maximization is one of the modern approaches. The term wealth means shareholder
wealth or the wealth of the persons those who are involved in the business concern. Wealth
maximization is also known as value maximization or net present worth maximization. This
objective is an universally accepted concept in the field of business .

Stockholder*s current wealth in a firm = (Number of shares owned) x(Current Stock Price share)

Favorable Arguments for Wealth Maximization

(i) Wealth maximization is superior to the profit maximization because the main aim
of the business concern under this concept is to improve the value or wealth of the
shareholders.

(i) Wealth maximization considers the comparison of the value to cost associated with
the business concern. Total value detected from the total cost incurred for the
business operation. It provides extract value of the business concern.

(iif) Wealth maximization considers both time and risk of the business concern.

(iv)Wealth maximization provides efficient allocation of resources.

(v) It ensures the economic interest of the society.

Unfavorable Arguments for Wealth Maximization

(i) Wealth maximization leads to prescriptive idea of the business concern but it may not be
suitable to present day business activities.

(i) Wealth maximization creates ownership-management controversy.

(i)  Management alone enjoy certain benefits.

(iv)  The ultimate aim of the wealth maximization objectives is to maximize the profit.

(V) Wealth maximization can be activated only with the help of the profitable position of the
business concern.

MAXIMIZING VS SATISFYING

As share holders are the real owners of the organization, they appoint managers to take important
decisions with the objective of maximizing share holder“s wealth. Though organizations have
many more objectives, but maximizing stock price is considered to be an important objective of
all for many firms.

1) Stock price maximization and social welfare: It is advantageous for society, if
firm maximize its stock price. But, firm must not have any intentions of forming
monopolistic market, creating pollution and avoiding safety measures. When stock
prices are maximized, it benefits society by:



i) To greater extent the owners of stock are society: In past, ownership of stock was
with wealthy people in society. But now, with the tremendous growth of pension funds,
life insurance companies and mutual funds, large group of people in society have
ownership of stock either directly or indirectly. Hence, when stock price is increased, it
ultimately improves the quality of life for many people in society.

i) Consumers benefit: It is necessary to have effective low-cost businesses which
manufacture good quality of goods and services at the cheapest cost possible to
maximize stock price. Companies which are interested in maximizing stock price must
satisfy all requirements of customers, provide good services and innovate new products
finally; it must increase its sales by creating value for customers. Some people believe
that firms increase the prices of goods while maximizing stock price. But it is not true;
in order to survive in competitive market firms does not increase prices otherwise they
may lose their market share.

iii) Employees benefit: In past years, it was an exception that decreases in level of
employees lead to increase in stock price, but now a successful company which can
increase stock price can develop and recruit more employees which ultimately benefits
the society. Successful companies take advantage of skilled employees and motivated
employees are an important source of corporate success.

2) Managerial Actions to Maximize Shareholder’s Wealth: In order to identify the
steps taken by managers to maximize shareholders wealth, the ability of the
organization to generate cash must be known. Cash flows can be determined in three
ways, they are:
1) Unit Sales: In first determinant, managers can increase the level of their sales either
by satisfying customers or by luck, but which will not continue in long run.
ii) After Tax Operating Margins: In second determinant, managers can generate cash
flows by increasing operating profit which is not possible in competitive environment or
by decreasing direct expenses.
iif) Capital Requirements: In third determinant, managers can increase cash flows by
decreasing assets requirements which ultimately results in increase of stock price.
Investment and financing decisions have an impact on level, timing and
risk of the cash flow of firm and finally on stock price. It is necessary for
manager to make decisions which can maximize the stock price of the firm.

3) Maximizing Earnings Per Share is Beneficent or Not: In order to
maximize stock price, many analyst focus on cash flows by evaluating the
performance of the company and also focus of EPS as an accounting measure.
Along with cash flow, EPS also plays an important role in identifying
stockholder*s value.



DIFFERENCE BETWEEN PROFIT AND WEALTH MAXIMIZATION

Goal Objective Advantages Disadvantages
Profit Large amount of profits -Easy to calculate profits. -Emphasizes the short term.
maximization

-Easyto determine the link
between financial decisions

and profits.

-Ignores risk oruncertainty.

-lgnores the timing of
Returns.

-Requires immediate
Resources.

Stockholder
wealth
maximization

Highest market value of
common stock

-Emphasizes the long term.
-Recognizes  risk
Uncertainty.
-Consider
return.

stockholders

or

-Offers no clear relationship
between financial decisions
and stock price.

-Can lead to management
anxiety and frustration.




PROFIT VS. WEALTH VS. WELFARE

S.NO. | PROFITMAXIMIZATION | WEALTH MAXIMIZATION | WELFARE
MAXIMIZATION

1) Profits are earned Wealth is maximized, so that Welfare maximization is
maximized, so that firm | wealth of share-holders can be | done with the help of micro
can over-come future risks | maximized. economic techniques to
which are uncertain. examine a locative

distribution.

2) Profit maximization is a | In wealth maximization In  welfare maximization,
yards stick for calculating | stockholders currentwealth is | social welfare is evaluated
efficiency andeconomic | evaluated in order to maximize | by calculating economic
prosperity of the concern. the value of shares in the activities of individuals in

market. the society.

3) Profit is measured in terms | Wealth is measured in terms of | Welfare can be measured in
of efficiency of the firm. market price of shares. two ways, either by pare to

efficiency or in units or
dollars.

4) Profit maximization Wealth maximization involves | Wealth maximization
Involves problem of problems related to | involves problem of

uncertainty because profits

are uncertain.

maximizing shareholders

wealth or wealth of the firm

combining the utilities of

different people.




AGENCY RELATIONSHIP AND COST:

The relationship that exists in an organization between share holders and management
known as agency relationship. Agency relationship results when a principal hires an agent
to perform part of his duties.

Agency Problem: In this type of relationship there is a chance of conflicts to occur
between the principal and the agent. This conflict is termed as agency problem.

Agency Costs: The costs incurred by stockholders in order to minimize agency
problem and maximize the owner"s wealth are called agency costs.

The two primary agency relationships exists in a business concern are:

1) Shareholders Vs Bondholders

2) Manager Vs Share holders

1) Agency conflict-1 (Shareholders Vs Bondholders): Shareholders are the
real owners of the concern, they pay fixed and agreed amount of interest to
bondholders till the duration of bond is finished but bondholders have a
proceeding claim over the assets of the company. Since equity investors are
the owners of the company they possess a residual claim on the cash flows of
the company. Bondholders are the only sufferers if decisions of the company
are not appropriate.

When a company invest in project by taking amount from bondholders and if the
project is successful, fixed amount is paid to bondholders and rest of the profits are for
shareholders and suppose if project fails then sufferers will be the bondholders as their
money have been invested.

2) Agency conflict-1l (Managers Vs Shareholders): Profits generated from
investments in projects can be utilized for reinvestment or provided back to shareholders
as dividends. If dividends are increased, it may leads to decrease in the resources which
are under the manager™s control and also strict its growth. As managers are evaluated on
the basis of growth they might go for unproductive projects which cannot generate
appropriate returns, which make the shareholders, feel shocked. This is the main cause
of conflicts between managers and shareholders.

RISK RETURN TRADE-OFF

The Risk-Return Trade-Off is an essential concept in finance theory.
Risk implies the changes in expected return like sales, profits or cash flow and it
also includes probability that problem.

Risk analysis is a procedure of calculating and examining the risk which
is related to financial and investment decision of the company. Finance
managers must focus on expected rate of return by comparing the level of risks
involved in investment decision. When it is expected that rate of return will be
high then it involves high level of risk and vice versa.



TIME VALUE OF MONEY AND MATHEMATICS OF FINANCE
Concept
We know that 2100 in hand today is more valuable than ¢ 100 receivable after a year.

We will not part with ¢ 100 now if the same sum is repaid after a year. But we might part with
100 now if we are assured that ¢ 110 will be paid at the end of the first year. This “additional ¥

Compensation” required for parting ¢ 100 today, is called “interest” or “the time value of
money”. It is expressed in terms of percentage per annum.
Money should have time value for the following reasons:

o Money can be employed productively to generate real returns;

o In an inflationary period, a rupee today has higher purchasing power than a rupee in the
future;

o Due to uncertainties in the future, current consumption is preferred to

future Consumption.

The three determinants combined together can be expressed to determine the rate of
interest as follows :

Nominal or market interest rate

= Real rate of interest or return (+) Expected rate of inflation (+) Risk premiums to
compensate for uncertainty.
Time Value of Money and mathematics

(1) Compounding: We find the Future Values (FV) of all the cash flows at the end of the time

period at a given rate of interest.

(2) Discounting: We determine the Time Value of Money at Time “O” by comparing the initial

outflow with the sum of the Present Values (PV) of the future inflows at a given rate of interest.
Time Value of Money

Compounding Discounting

(Future Value) (Present Value)

(a) Single Flow (a) Single Flow

(b) Multiple Flows (b) Uneven Multiple Flows

(c) Annuity (c) Annuity



Future Value of a Single Flow

It is the process to determine the future value of a lump sum amount invested at one point
of time.

FVn =PV (1+i) "
Where,FVVn = Future value of initial cash outflow after n years

PV = Initial cash outflow,i = Rate of Interest p.a.,n = Life of the Investment and (1+i)" =
Future Value of Interest Factor (FVIF)

Example
The fixed deposit scheme of Punjab National Bank offers the following interest rates :
Period of Deposit Rate Per Annum
46 days to 179 days 5.0
180 days <1 year 5.5
1 year and above 6.0
An amount of Rs. 15,000 invested today for 3 years will be compounded too :
FVn = PV (1+i)"

=PV x FVIF (6, 3)

=PV x (1.06)3

= 15,000 (1.191)

= ¢ 17,865

Present Value of a Single Flow:

PV= FVn

@aogiy

Where, PV = Present Value, FVVn = Future Value receivable after n years, i = rate of interest, n =
time period

Example
Calculate P.V. of 750,000 receivable for 3 years @ 10%

P.V. = Cash Flows x Annuity @ 10% for 3
years.

=50,000 x 2.4868 = ¥ 1,24,340/-



UNIT 2

Investment Definition:

The term "investment™ can be used to refer to any mechanism used for the purpose of generating
future income. In the financial sense, this includes the purchase of bonds, stocks or real estate
property. Additionally, the constructed building or other facility used to produce goods can be
seen as an investment.

Capital Definition:

The word Capital refers to be the total investment of a company money in , tangible and
intangible assets
Investment decision is the process of making investment decisions in capital expenditure.

A capital expenditure may be defined as an expenditure the benefits of which are expected to
be received over period of time exceeding one year.

The main characteristic of a capital expenditure is that the expenditure is incurred at one point of
time whereas benefits of the expenditure are realized at different points of time in future.

Capital Budgeting

The process through which different projects are evaluated is known as capital budgeting.
Capital budgeting is defined “as the firm*s formal process for the acquisition and investment of
capital. It involves firm™s decisions to invest its current funds for addition, disposition,
modification and replacement of fixed assets”.

DEFINITION
Capital budgeting (investment decision) as, “Capital budgeting is long term
Planning for making and financing proposed capital outlays.” Charles T.Horngreen

NEED AND IMPORTANCE OF CAPITAL BUDGETING

1. Huge investments: Capital budgeting requires huge investments of funds, but the
available funds are limited, therefore the firm before investing projects, plan are control
its capital expenditure.

2. Long-term: Capital expenditure is long-term in nature or permanent in nature.
Therefore financial risks involved in the investment decision are more. If higher risks
are involved, it needs careful planning of capital budgeting.

3. Irreversible: The capital investment decisions are irreversible, are not changed back.
Once the decision is taken for purchasing a permanent asset, it is very difficult to
dispose of those assets without involving huge losses.



4. Long-term effect: Capital budgeting not only reduces the cost but also increases the
revenue in long-term and will bring significant changes in the profit of the company by
avoiding over or more investment or under investment. Over investments leads to be
unable to utilize assets or over utilization of fixed assets. Therefore before making the
investment, it is required carefully planning and analysis of the project thoroughly.

CAPITAL BUDGETING PROCESS

Capital budgeting is a complex process as it involves decisions relating to the investment of
current funds for the benefit to the achieved in future and the future is always uncertain.
However the following procedure may be adopted in the process of capital budgeting:

= ==
e

PROJECT GENERATION

1. Identification of Investment Proposals:

The proposal or the idea about potential investment opportunities may originate
from the top management or may come from the rank and file worker of any department
or from any officer of the organization.

2. Screening the Proposals:

The expenditure planning committee screens the various proposals received from
different departments. The committee views these proposals from various angels to



ensure that these are in accordance with the corporate strategies or a selection criterion®s
of the firm and also do not lead to departmental imbalances.

PROJECT EVALUATION

3. Evaluation of Various Proposals:

The next step in the capital budgeting process is to evaluate the profitability of
various proposals. There are many methods which may be used for this purpose such as
payback period method, rate of return method, net present value method, internal rate of
return method etc.

PROJECT SELECTION
4. Fixing Priorities:

After evaluating various proposals, the unprofitable or uneconomic proposals
may be rejected straight ways. But it may not be possible for the firm to invest
immediately in all the acceptable proposals due to limitation of funds. Hence, it is very
essential to rank the various proposals and to establish priorities after considering
urgency, risk and profitability involved therein.

5. Final Approval and Preparation of Capital Expenditure Budget:

Proposals meeting the evaluation and other criteria are finally approved to be
included in the Capital expenditure budget.

PROJECT EXECUTION

6. Implementing Proposal:

Preparation of a capital expenditure budgeting and incorporation of a particular
proposal in the budget does not itself authorize to go ahead with the implementation of
the project. A request for authority to spend the amount should further be made to the
Capital Expenditure Committee.

Further, while implementing the project, it is better to assign responsibilities for
completing the project within the given time frame and cost limit so as to avoid
unnecessary delays and cost over runs by applying Network techniques PERT and CPM.

7. Performance Review:

The last stage in the process of capital budgeting is the evaluation of the performance of
the project. The evaluation is made through post completion audit by way of comparison
of actual expenditure of the project with the budgeted one, and also by comparing the
actual return from the investment with the anticipated return. The unfavorable variances,
if any should be looked into and the causes of the same are identified so that corrective
action may be taken in future.



DEVOLOPING CAH FLOW DATA (cash inflow and cash outflow)

The process of cash flow estimation is problematic because it is difficult to
accurately forecast the costs and revenues associated with large, complex projects that
are expected to affect operations for long periods of time. Forecasting project cash
inflows involves numerous variables and many participants in this exercise.

Capital outlays are estimated by engineering and product development
departments, revenue projections are provided by marketing group and operational cost
are estimated by production people, cost accountants, purchase managers, personal
executives, and tax experts and so on.

Calculation of cash inflow

Sales XXXX
Less: Cash expenses XXXX
PBDT XXXX
Less: Depreciation XXXX
PBT XXXX
less: Tax XXXX
PAT XXXX
Add: Depreciation XXXX
Cash inflow p.a XXXX

Calculation of cash outflow

Cost of project/asset XXXX
Transportation/installation charges ~ Xxxx
Working capital XXXX
Cash outflow XXXX

PROJECT EVALUATION TECHNIQUES (OR) CAPITAL BUDGETING
TECHNIQUES

There are many methods of evaluating profitability of capital investment proposals. The various
commonly used methods are as follows:

(A) Traditional methods:
(1) Pay-back Period Method or Pay out or Pay off Method.



(2) Improvement of Traditional Approach to pay back Period Method.(post
payback method)
(3) Accounting or Average Rate of Return Method.

(B) Time-adjusted method or discounted methods:

(4) Net Present Value Method.
(5) Internal Rate of Return Method.
(6) Profitability Index Method.

Traditional Discounted
methods methods
' Ay 4 ™
|_| Pay-back Period || NetPresent
Method Value Method
' Ay 4 ™
post payback |_| Internal Rate of
method Return Method
4 ™ 4 ™
Accounting or L
— Average Rate of -1 PJOf':\:b”:y q
Return Method el S5
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(A) TRADITIONAL
METHODS:
1. PAY-BACK PERIOD ETHOD

The ,,pay back™ sometimes called as pay out or pay off period method represents the period in
which the total investment in permanent assets pays back itself. This method is based on the
principle that every capital expenditure pays itself back within a certain period out of the
additional earnings generated from the capital assets.

ACCEPT /REJECT CRITERIA

Under this method, various investments are ranked according to the length of their payback
period in such a manner that the investment within a shorter payback period is preferred to the
one which has longer pay back period. (It is one of the non-discounted cash flow methods of
capital budgeting).



PAY BACK PERIOD = INITIAL INVESTMENT / ANNUAL CASH INFLOWS

MERITS
The following are the important merits of the pay-back method:

1. Itis easy to calculate and simple to understand.
2. Pay-back method provides further improvement over the accounting rate return.
3. Pay-back method reduces the possibility of loss on account of obsolescence.

DEMERITS

1. It ignores the time value of money.
2. Itignores all cash inflows after the pay-back period.
3. Itis one of the misleading evaluations of capital budgeting.

AVERAGE RATE OF RETURN:

This method takes into account the earnings expected from the investment over their
whole life. It is known as accounting rate of return method for the reason that under this
method, the Accounting concept of profit (net profit after tax and depreciation) is used
rather than cash inflows.

ACCEPT /REJECT CRITERIA

According to this method, various projects are ranked in order of the rate of earnings or
rate of return. The project with the higher rate of return is selected as compared to the
one with lower rate of return. This method can also be used to make decision as to
accepting or rejecting a proposal. Average rate of return means the average rate of return
or profit taken for considering.

2. Average Rate of Return Method (ARR):

Under this method average profit after tax and depreciation is calculated and then it
is divided by the total capital outlay or total investment in the project. The project
evaluation. This method is one of the traditional methods for evaluating

The project proposals

ARR = (Total profits (after dep & taxes))/ (Net Investment in the project X
No. of years of profits) x 100

OR

ARR = (Average Annual profits)/ (Net investment in the project) x 100




(b) Average Return on Average Investment Method:

This is the most appropriate method of rate of return on investment Under this
method, average profit after depreciation and taxes is divided by the average amount of
investment; thus:

Average Return on Average Investment = (Average Annual Profit after
depreciation and taxes)/ (Average Investment) x 100

Merits

1. Itis easyto calculate and simple to understand.

2. It is based on the accounting information rather than cash inflow.
3. Itis not based on the time value of money.

4. 1t considers the total benefits associated with the project.

Demerits

1. It ignores the time value of money.

2. It ignores the reinvestment potential of a project.

3. Different methods are used for accounting profit. So, it leads to some difficulties in
the calculation of the project.

(B) TIME-ADJUSTED OR DISCOUNTED CASH FLOW METHODS: or
MODERN METHOD

The traditional methods of capital budgeting i.e. pay-back method as well as
accounting rate of return method, suffer from the serious limitations that give equal
weight to present and future flow of incomes. These methods do not take into
consideration the time value of money, the fact that a rupee earned today has more value
than a rupee earned after five years.

1. NET PRESENT VALUE

Net present value method is one of the modern methods for evaluating the project
proposals. In this method cash inflows are considered with the time value of the money.
Net present value describes as the summation of the present value of cash inflow and
present value of cash outflow. Net present value is the difference between the total
present values of future cash inflows and the total present value of future cash outflows.

{ NPV = Total Present value of cash inflows — Net Investment }




If offered an investment that costs $5,000 today and promises to pay you $7,000 two
years from today and if your opportunity cost for projects of similar risk is 10%, would
you make this investment? You

Need to compare your $5,000 investment with the $7,000 cash flow you expect in two
years. Because you feel that a discount rate of 10% reflects the degree of uncertainty
associated with the $7,000 expected in two years, today it is worth:

Present value of $7000to be received in two years

=$ 7000/(1+0.10)? = $5785.12

By investing $5,000 today, you are getting in return a promise of a cash flow in the
future that is worth $5,785.12 today. You increase your wealth by $785.12 when you
make this investment.

Accept/Reject criteria

If the present value of cash inflows is more than the present value of cash outflows, it
would be accepted. If not, it would be rejected.

Merits

1. It recognizes the time value of money.

2. It considers the total benefits arising out of the proposal.

3. Itis the best method for the selection of mutually exclusive projects.
4. It helps to achieve the maximization of shareholders™ wealth.

Demerits

1. It is difficult to understand and calculate.

2. It needs the discount factors for calculation of present values.

3. Itis not suitable for the projects having different effective lives.
2. INTERNAL RATE OF RETURN METHOD

This method is popularly known as time adjusted rate of return method/discounted rate
of return method also. The internal rate of return is defined as the interest rate that
equates the present value of expected future receipts to the cost of the investment outlay.
This internal rate of return is found by trial and error.

First we compute the present value of the cash-flows from an investment, using an
arbitrarily elected interest rate. Then we compare the present value so obtained with the
investment cost. If the present value is higher than the cost figure, we try a higher rate of
interest and go through the procedure again. Conversely, if the present value is lower
than the cost, lower the interest rate and repeat the process.



The interest rate that brings about this equality is defined as the internal rate of return. In
other words it is a rate at which discount cash flows to zero.

This rate of return is compared to the cost of capital and the project having higher
difference, if they are mutually exclusive, is adopted and other one is rejected. As the
determination of internal rate of return involves a number of attempts to make the
present value of earnings equal to the investment, this approach is also called the Trial
and Error Method. Internal rate of return is time adjusted technique and covers the
disadvantages of the Traditional techniques.

Accept/Reject criteria

If the present value of the sum total of the compounded reinvested cash flows is greater
than the present value of the outflows, the proposed project is accepted. If not it would
be rejected.

It is expected by the following ratio

{ Cash inflow / Initial Investment J

Steps to be followed:

Stepl. Find out factor. Factor is calculated as follows:

{ F = Cash outlay or Initial Investment / Cash Inflow J

Step 2. Find out positive net present value
Step 3. Find out negative net present value

Step 4. Find out IRR

IRR= Base Factor + ( Positive NPV/ Difference in Positive and Negative NPV ) x DP

Base factor = Positive Discount Rate
DP= Difference in Percentage

Merits

1. It considers the time value of money.

2. It takes into account the total cash inflow and outflow.
3. It does not use the concept of the required rate of return.
4. 1t gives the approximate/nearest rate of return.



Demerits

1. It involves complicated computational method.

2. It produces multiple rates which may be confusing for taking decisions.

3. It is assume that all intermediate cash flows are reinvested at the internal rate of
return.

NPV vs. IRR Methodsf
Key differences between the most popular methods, the NPV (Net Present Value)
Method and IRR (Internal Rate of Return) Method, include:

* NPV is calculated in terms of currency while IRR is expressed in terms of
the percentage return a firm expects the capital project to return;

 Academic evidence suggests that the NPV Method is preferred over other
methods since it calculates additional wealth and the IRR Method does not;

» The IRR Method cannot be used to evaluate projects where there are changing cash
flows (e.g., an initial outflow followed by in-flows and a later out-flow, such as may
be required in the case of land reclamation by a mining firm);

» However, the IRR Method does have one significant advantage -- managers tend to
better understand the concept of returns stated in percentages and find it easy to
compare to the required cost of capital; and, finally,

» While both the NPV Method and the IRR Method are both DCF models and can even
reach similar conclusions about a single project, the use of the IRR Method can lead to
the belief that a smaller project with a shorter life and earlier cash inflows, is
preferable to a larger project that will generate more cash.

« Applying NPV using different discount rates will result in different
recommendations. The IRR method always gives the same
recommendation.

COST OF CAPITAL

The cost of capital of a firm is the minimum rate of return expected by its
investors. It is the weighted average cost of various sources of finance used by a firm.
The capital used by a firm may be in the form of debt, preference capital, retained
earnings and equity shares. The concept of cost of capital is very important in the
financial management. A decision to invest in a particular project depends upon the cost
of capital of the firm or the cut off rate which is the minimum rate of return expected by
the investors.

DEFINITIONS


http://www.wikicfo.com/wiki/NPV%20vs%20IRR.ashx#_NPV_vs_IRR_Methods__0
http://www.wikicfo.com/wiki/Net%20Present%20Value%20Method.ashx
http://www.wikicfo.com/wiki/Internal%20Rate%20of%20Return%20Method.ashx

According to Solomon Ezra, “Cost of capital is the minimum required rate of earning or
the cut-off rate of capital expenditures”.

MEASUREMENT OF COST OF CAPITAL

The term cost of capital is an overall cost. This is the combination cost of the
specific cost associated with specific source of financing. The computation of cost
capital therefore, involves two steps: The computation of the different elements of the
cost in term of the cost of the different source of finance.

The calculation of the overall cost by combining the specific cost into a
composite cost. From the view point of capital budgeting decisions the long-term
sources of fund are relevant as the constitute the major source of financing of fixed cost.
In calculating the cost of capital, therefore, the focus is to be on the long-term funds.

In other words the specific cost has to be calculated for: 1) Long term debt 2)
Preference Shares 3) Equity Shares 4) Retained earnings

COST OF DEBT

Kdb=I/P

Where Kdb = before tax cost of debt, | = Interest, P = Principal

Cost of Redeemable Debentures (using approximation method)
The cost of redeemable debentures will be calculated as below:

I[‘I-t]+w

(RV+NP)
2

Cost of Redeemable Debenture (K)) =

Where,
I = Interest payment

MNP = Net proceeds from debentures in case of new issue of deb or Current
market price in case of existing debt.

RV = Redemption value of debentures
t =  Tax rate applicable to the company
n = Life of debentures.

The above formula to calculate cost of debt is used where only interest on debt is tax
deductable. Sometime, debts are issued at discount and/ or redeemed at a premium.
If discount on issue and/ or premium on redemption are tax deductible, the following
formula can be used to calculate the cost of debt.



N {FW-NP}

(RV+ NP]

2

In absence of any specific information, students may use any of the above formu-
lae to calculate the Cost of Debt (K,) with logical assumption.

Cost of Redeemable Debenture (K,) = (1-t)

ILLUSTRATION

A company issued 10,000, 10% debentures of X 100 each at a premium of 10% on
1.4.2017 to be matured on 1.4.2022. The debentures will be redeemed on maturity.
Compute the cost of debentures assuming 35% as tax rate.

SOLUTION

The cost of debenture (K,) will be calculated as below:
RV-NP
(1-y0 NP)

Cost of debenture (K) = n
K (RV+NP)
2
| = Interest on debenture = 10% of T100 = T10
NP = Net Proceeds = 110% of 100 =3T110
RV = Redemption value =3100
n = Period of debenture = 5 years
t = Tax rate = 35% or 0.35
?101 -0.35)+ gﬁoo ¥110)
K = Syears
4 (100 +%110)
2
Z10x065-32 T 45
K = = 0.0428 or 4.28%
o K 2105 7105 o
ILLUSTRATIONM

A company issued 10,000, 10% debentures of T 100 each on 1.4.2017 to be matured on
1.4.2022. The company wants to know the current cost of its existing debt and the market
price of the debentures is ¥ 80. Compute the cost of existing debentures assuming 35%
tax rate.



SOLUTION

11 -t)+__(RV'NP)
Cost of debenture (K,) = (RV+NI;‘)
2
| = Interest on debenture = 10% of ¥100 =310
NP = Current market price =380
RV = Redemption value =%100
n = Period of debenture = 5years
= Taxrate = 35% or 0.35
210(1-0.35)+ {100-%110)
K = Syears
¢ (100 +3110)
2
T10x065-32 _T45
K, = = = 0.0428 or 4.28%
o & 2105 2105 o
ILLUSTRATION

A company issued 10,000, 10% debentures of T 100 each on 1.4.2017 to be matured on
1.4.2022. The company wants to know the current cost of its existing debt and the market
price of the debentures is ¥ 80. Compute the cost of existing debentures assuming 35%
tax rate.

SOLUTION

1(1-t)+iRVr'1_NP)

Cost of debenture (K,) =

(RV+NP)
2
I = Interest on debenture = 10% of ¥100 =310
NP = Current market price =380
RV = Redemption value =%100
n = Period of debenture = 5years

= Taxrate = 35% or 0.35



210(1-035)+ £ 100-280)

K B Syears
“. (¥ 100+% 80)
2
T10=x0.65+F4 _T105
Or, = 290 T =0.1166 or 11.67%

S ALY

Cost of Debt using Present value method [Yield to maturity (YTM)
approach)]
The cost of redeemable debt (K,) is also calculated by discounting the relevant cash
flows using Internal rate of return (IRR). (The concept of IRR is discussed in the
Chapter- Investment Decisions). Here YTM is the annual return of an investment
from the current date till maturity date. So, YTM is the internal rate of return at
which current price of a debt equals to the present value of all cashflows.

The relevant cash flows are as follows:

Year Cash flows
0 Net proceeds in case of new issue/ Current market price in case of
existing debt (NP or P))
1ton |Interestmetoftax p(1-v]
n Redemption value (RV)

Steps to calculate relevant cash flows:

Step-1: Identify the cash flows

Step-2: Calculate NPVs of cash flows as identified above using two discount rates
(guessing).

Step-3: Calculate IRR



Example: A company issued 10,000, 10% debentures of ¥ 100 each on 1.4.2013 to
be matured on 1.4.2018. The company wants to know the current cost of its existing
debt and the market price of the debentures is T 80. Compute the cost of existing
debentures assuming 35% tax rate.

Step-1: Identification of relevant cash flows

Year Cash flows
0 Current market price (P)) = T80
1to5 |Interest net of tax [I(1-t)] = 10% of T100 (1-0.35) = T6.5
""" 5  |Redemption value (RV) = Face valueie.X100
Step- 2: Calculation of NPVs at two discount rates
Year | Cash flows | Discount Present Discount Present
factor @ Value factor @ Value
10% 15%
0 80 1.000 (80.00) 1.000 (80.00)
1to5 6.5 3.791 24.64 3.352 21.79
5 100 0.621 62.10 0.497 49.70
NPV +6.74 -8.51

Step- 3: Calculation of IRR

NPV
IRR = L+ ———(H-L) = 10%+
NPV.-NPVs

6.74

——(15%-10%) = 12.21%
5.?4-[-5.51}[ )

YTM or present value method is a superior method of determining cost of debt
company to approximation method and it is also preferred in the field of finance.

COST OF PREFERENCE SHARE CAPITAL

The preference share capital is paid dividend at a specified rate on face value of
preference shares. Payment of dividend to the preference shareholders are not
mandatory but are given priority over the equity shareholder. The payment of dividend
to the preference shareholders are not charged as expenses but treated as appropriation
of after tax profit. Hence, dividend paid to preference shareholders does not reduce
the tax liability to the company. Like the debentures, Preference share capital can be

categorised as redeemable and irredeemable. Accordingly cost of capital for each type
will be discussed here.

Cost of Redeemable
Preference Shares Capital

Cost of Preference Share
Capital ]

Cost of Irredeemable
Preference Shares Capital




Cost of Redeemable Preference Shares

Preference shares issued by a company which are redeemed on its maturity is called
redeemable preference shares. Cost of redeemable preference share is similar to the
cost of redeemable debentures with the exception that the dividends paid to the
preference shareholders are not tax deductible. Cost of preference capital is calculated
as follows:

PD+ (RV-NP)
Cost of Reedemable Preference Share (K p) = n_
(RV+NP)
2
Where,

PD = Annual preference dividend
RV = Redemption value of preference shares
NP = Net proceeds on issue of preference shares
n =  Life of preference shares.

The cost of redeemable preference share could also be calculated as the discount
rate that equates the net proceeds of the sale of preference shares with the present
value of the future dividends and principal payments.

ILLUSTRATION

XYZ Ltd. issues 2,000 10% preference shares of ¥ 100 each at X 95 each. The company
proposes to redeem the preference shares at the end of 10th year from the date of issue.
Calculate the cost of preference share?

SOLUTION
oD+ (RV-NP)
| G| 1 | S
B (RV+NP)
2
10+(10(1)(.)95)
K, = = 0.1077 (approx.) = 10.77%

R 100+95)
2



Cost of Irredeemable Preference Shares

The cost of irredeemable preference shares is similar to calculation of perpetuity. The
cost is calculated by dividing the preference dividend with the current market price or
net proceeds from the issue. The cost of irredeemable preference share is as below:

( Cost of Irredeemable Preference Share (K,) = F;—D )
]
Where,
PD = Annual preference dividend
P, = Net proceeds in issue of preference shares
ILLUSTRATION

XYZ & Co. issues 2,000 10% preference shares of X 100 each at X 95 each. Calculate
the cost of preference shares.

SOLUTION
PD
K, = H
_(10x2,000) 1
P (95)(2‘000 =§ = 01 053 = 1053%
ILLUSTRATION

If R Energy is issuing preferred stock at X100 per share, with a stated dividend of 12, and
a floatation cost of 3% then, what is the cost of preference share?

SOLUTION

_ Preferred stock dividend
Market price of preferred stock (1-floatation cost)

- 712 T2
T £100(1-0.03) %97

B

=0.1237 or 1237



COST OF EQUITY SHARE CAPITAL

It may prima facie appear that equity capital does not carry any cost. But this is not
true. The market share price is a function of return that equity shareholders expect and
get. If the company does not meet their requirements, it will have an adverse effect on
the market share price. Also, it is relatively the highest cost of capital. Due to relative
higher risk, equity shareholders expect higher return hence, the cost of capital is also
high.

In simple words, cost of equity capital is the rate of return which equates the present
value of expected dividends with the market share price. In theory, the management
strives to maximize the position of equity holders and the effort involves many

decisions.
Different methods are employed to compute the cost of equity share capital.

Dividend Price Approach

Earning/ Price Approach
Cost of Equity Share
Capital

Realized Yeild Approach

'L‘.apital Asset Pricing Model|
(CAPM)

Dividend Price Approach:

This is also known as dividend valuation model. This model makes an assumption that
the market price of share is the present value of its future dividends stream.

As per this approach the cost of equity is the rate which equates the future dividends to
the current market price.

The cost of equity capital is calculated by dividing the expected dividend by market
price per share.

In this approach dividend is constant, which means there is no- growth or zero growth in
dividend.



: )

( Cost of Equity (K,) =5

Where,

K, = Cost of equity

D = Expected dividend

P, = Market price of equity (ex- dividend)
This model assumes that dividends are paid at a constant rate to perpetuity. It ignores
taxation.

Dividend Price Approach with Constant Growth: As per this approach the rate of
dividend growth remains constant. Where earnings, dividends and equity share price
all grow at the same rate, the cost of equity capital may be computed as follows:

[ Cost of Equity {KE}=%+Q j
a

Where,
D, = [D, (1+ g)] i.e. next expected dividend

P, = Current Market price per share
g = Constant Growth Rate of Dividend.

In case of newly issued equity shares where floatation cost is incurred, the cost of
equity share with an estimation of constant dividend growth is calculated as below:

[ Cost of Equity{l(¢]=i+§l )
P,-F

Where, F = Flotation cost per share.

ILLUSTRATION

A company has paid dividend of X 1 per share (of face value of X 10 each) last year and
it is expected to grow @ 10% next year. Calculate the cost of equity if the market price
of share is T 55.

SOLUTION

D,  Z1(1+0.1)
K =— =301 =0.12 = 12%
= 95 55 7 :

Dividend Discount Model with variable growth rate is explained in chapter 10 i.e.
Dividend Decision



Earning/ Price Approach

The advocates of this approach co-relate the earnings of the company with the
market price of its share. Accordingly, the cost of equity share capital would be
based upon the expected rate of earnings of a company. The argument is that each
investor expects a certain amount of earnings, whether distributed or not from the
company in whose shares he invests. Thus, if an investor expects that the company
in which he is going to subscribe for shares should have at least a 20% rate of
earning, the cost of equity share capital can be construed on this basis. Suppose
the company is expected to earn 30% the investor will be prepared to pay ¥ 150

30
[ Eﬂm]far each share of ¥ 100.
Earnings/ Price Approach with Constant Earnings:

( Cost of Equit}f{K,F% )

Where,
E = Current earnings per share

P = Market share price

Since practically earnings do not remain constant and the price of equity shares is

also directly influenced by the growth rate in earnings. The above formula need to
be modified to reflect the growth element.

Earnings/ Price Approach with Growth in Earnings:

( Cost of Equity [KE]=E+Q )

Where,

E = Current earnings per share
P = Market price per share

g = Annual growth rate of earnings.

The Earning Price Approach is similar to the dividend price approach; only it seeks to
nullify the effect of changes in the dividend policy.

Estimation of Growth Rate

The calculation of ‘g’ (the growth rate) is an important factor in calculating cost of

equity share capital. Generally two methods are used to determine the growth rate,
which are discussed below:



(i) Average Method
It calculated as below:
Current Divident (D) = D, (1+g)"
or

Growth rate (g) = KE -1
Where,

D, = Current dividend,
D, = Dividend in n years ago
Trick: Growth rate can also be found as follows:
Step-I: Divide D_ by D, find out the result, then refer the FVIF table,
Step-ll: Find out the result found at Step-l in corresponding year’s row
Step-llI: See the interest rate for the corresponding column. This is the growth rate.

Example: The current dividend (D,) is ¥16.10 and the dividend 5 year ago was X10.
The growth rate in the dividend can found out as follows:

Step-I: Divide D, by D, i.e.X16.10 =+ %10 = 1.61
Step-ll: Find out the result found at Step-| i.e. 1.61 in corresponding year's row
i.e. 5 year

Step-Ill: See the interest rate for the corresponding column which is 10%. Therefore,
growth rate (g) is 10%.




COST OF RETAINED EARNINGS

Like another source of fund, retained earnings involve cost. It is the opportunity cost
of dividends foregone by shareholders.

The given figure depicts how a company can either keep or reinvest cash or return it to
the shareholders as dividends. (Arrows represent possible cash flows or transfers.) If the
cash is reinvested, the opportunity cost is the expected rate of return that shareholders
could have obtained by investing in financial assets.

Cost
Investment Investment
opportunity [=—— Firm |~ Shareholders | — = opportunity
(real asset) T T T (financial asset)
Invest Alternative Shareholders
pay dividend invest for themselves
to shareholders

Cost of Retained Earnings

The cost of retained earnings is often used interchangeably with the cost of equity,
as cost of retained earnings is nothing but the expected return of the shareholders
from the investment in shares of the company. However, sometime cost of retained
earnings remains below the cost of equity due to saving in floatation cost and
existence of personal tax.

The Cost of Retained Earnings (K ) is calculated as below:

In absence of any information on personal tax (t ):
Cost of Retained Earnings (K) = Cost of Equity Shares (K
If there is any information on personal tax (t ):
K =K -t
5 e p

Floatation Cost: The new issue of a security (debt or equity) involves some
expenditure in the form of underwriting or brokerage fees, legal and administrative
charges, registration fees, printing expenses etc. The sum of all these cost is known
as floatation cost. This expenditure is incurred to make the securities available to the

investors. Floatation cost is adjusted to arrive at net proceeds for the calculation of
cost of capital.



ILLUSTRATION

ABC Company provides the following details:
D,=X419 P,=%X50 g=5%

Calculate the cost of retained earnings.

SOLUTION
D1 Do(1+9)
K = — e
$ Po *9 Po =3
2 $4.19(1+0.05) +0.05

350
0.088 + 0.05 = 13.8%

ILLUSTRATION
ABC Company provides the following details:
R =7% B=120 R,-R =6%

Calculate the cost of retained earnings based on CAPM method.
SOLUTION
K, = R+B(R,-R)

= 7%+ 1.20 (6%) = 7% + 7.20
K. = 142%

<

WEIGHTED AVERAGE COST OF CAPITAL
(WACC)

WACC is also known as the overall cost of capital of having capitals from the different
sources as explained above. WACC of a company depends on the capital structure
of a company. It weighs the cost of capital of a particular source of capital with its
proportion to the total capital. The weighted average cost of capital for a firm is of
use in two major areas:-



1. In consideration of the firm's position;

2. Evaluation of proposed changes necessitating a change in the firm’s capital. Thus,
a weighted average technique may be used in a quasi-marginal way to evaluate a
proposed investment project, such as the construction of a new building.

Thus, weighted average cost of capital is the weighted average after tax costs of the

individual components of firm’'s capital structure. That is, the after tax cost of each

debt and equity is calculated separately and added together to a single overall cost of
capital.

Example:
Calculation of WACC

Retained Earnings 25% (W) 2.50% (K, x W)
Equity Share Capital 11% (K) 10% (W) 1.10%(K, x W)
Preference Share Capital 9% (K) 15% (W) 1.35%(K, x W) |
Long term debts 6% (K,) 30% (W,) 3.00%(K, x W,) |
Total (WACC) 7.95%

The cost of weighted average method is preferred because the proportions of various
sources of funds in the capital structure are different. To be representative, therefore,
cost of capital should take into account the relative proportions of different sources
of finance.



The WACC represents the minimum rate of return at which a company produces value for
its investors.

Let’s say company produces a return of 20% and has WACC of 11%. By contrast, if the
company return is less than WACC, the company is shedding value, which indicates that
investors should put their money elsewhere.

But there are problems in determination of weighted average cost of capital. These

mainly relate to:-

1.  Computation of equity capital and;

2. Assignment of weights to the cost of specific source of financing. Assignment of weights
can be possible either on the basis of historical weighting or marginal weighting.

Choice of weights
There is a choice weights between the book value (BV) and market value(MV).
Book Value(BV): Book value weights is operationally easy and convenient. While
using BV, reserves such as share premium and retained profits are included in the BV
of equity, in addition to the nominal value of share capital. Here the value of equity
will generally not reflect historic asset values, as well as the future prospects of an
organisation.
Market Value(MV): Market value weight is more correct and represent a firm's
capital structure. It is preferable to use MV weights for the equity. While using MV,
reserves such as share premium and retained profits are ignored as they are in effect
incorporated into the value of equity. It represents existing conditions and also take
into consideration the impacts of changing market conditions and the current prices
of various security. Similarly, in case of debt MV is better to be used rather than the BV
of the debt, though the difference may not be very significant.

ILLUSTRATION

Calculate the WACC using the following data by using:
(a) Book value weights

(b) Market value weights

The capital structure of the company is as under:

<)
| Debentures (X 100 per debenture) 5,00,000
Preference shares (X 100 per share) 5,00,000
Equity shares (X 10 per share) 10,00,000
20,00,000

The market prices of these securities are:
Debentures T 105 per debenture
Preference shares T 110 per preference share
Equity shares T 24 each.



Additional information:

(1) X 100 per debenture redeemable at par, 10% coupon rate, 4% floatation costs, 10

year maturity.

(2) X 100 per preference share redeemable at par, 5% coupon rate, 2% floatation cost

and 10 year maturity.
(3) Equity shares has ¥ 4 floatation cost and market price ¥ 24 per share.

The next year expected dividend is X 1 with annual growth of 5%. The firm has

practice of paying all earnings in the form of dividend.
Corporate tax rate is 50%.

SOLUTION
D 71
Cost of Equity (K)) PD-IIF +g= 5474 +0.05 = 0.1 or 10%
|{1—t}+[m"”P] 10(1—0.5}+[m“n‘”':)
Cost of Debt “{e:l = RV +NP = RV +NP
=) 5
1001 -{15]+—“ﬂ?£‘95} o4
Costofdebt=(K) = [100+96) = :[ 93‘ ): 0.055 (approx.)
2
S5+ % 5.2
Cost of preference shares =K = [ gg | = [E] =0.053 (approx.)
2

(a) Calculation of WACC using book value weights

Source of capital Book Value | Weights | After tax cost | WACC (K )
of capital
(a) (b) (c) = (a)x(b)
10% Debentures 5,00,000 0.25 0.055 0.0137
5% Preference shares 5,00,000 0.25 0.053 0.0132
Equity shares 10,00,000 0.50 0.10 0.0500
20,00,000 1.00 0.0769

WACC (K,) = 0.0769 or 7.69%



(b)  Calculation of WACC using market value weights

Source of capital Market |[Weights| Aftertax | WACC (K)
Value cost of
capital
(a) (b) (c) = (a)x(b)
10% Debentures (T105x= 5,000) 525000 | 0.151 0.055 0.008 :
5% Preference shares (110x= 5,000)| 5,50,000 0.158 0.053 0.008 .r
Equity shares (T24x 1,00,000) 24,00,000 | 0.691 0.10 0.069 |
34,75,000 | 1.000 0.085

WACC (K,) = 0.085 or 8.5%

MARGINAL COST OF CAPITAL

The marginal cost of capital may be defined as the cost of raising an additional rupee
of capital. Since the capital is raised in substantial amount in practice, marginal cost
is referred to as the cost incurred in raising new funds. Marginal cost of capital is
derived, when the average cost of capital is calculated using the marginal weights.

The marginal weights represent the proportion of funds the firm intends to employ.
Thus, the problem of choosing between the book value weights and the market
value weights does not arise in the case of marginal cost of capital computation.

For example, the cost of debt may remain 7% (after tax) till T10 lakhs of debt is raised,
between 10 lakhs and 15 lakhs, the cost may be 8% and so on. Similarly, if the
firm has to use the external equity when the retained profits are not sufficient, the
cost of equity will be higher because of the floatation costs. When the components
cost start rising, the average cost of capital will rise and the marginal cost of capital
will however, rise at a faster rate.

ILLUSTRATION

ABC Ltd. has the following capital structure which is considered to be optimum as on
31st March, 2017.

)

14% Debentures 30,000
17% Preference shares 10,000
Equity Shares (10,000 shares) 1,60,000
200,000

The company share has a market price of ¥ 23.60. Next year dividend per share is 50%
of year 2017 EPS. The following is the trend of EPS for the preceding 10 years which is
expected to continue in future.



Year EPS () Year EPS )
2008 1.00 2013 1617
2009 1.70 2014 1.77
2010 1.21 20715 1.95
2011 1.33 2016 215
2012 1.46 2017 236

The company issued new debentures carrying 16% rate of interest and the current market
price of debenture is T 96.

Preference share T 9.20 (with annual dividend of T 1.1 per share) were also issued. The
company is in 50% tax bracket.

(A) Calculate after tax:

(i) Cost of new debt

(i) Cost of new preference shares

(i) New equity share (consuming new equity from retained earnings)
(B) Calculate marginal cost of capital when no new shares are issued.

(C) How much can be spent for capital investment before new ordinary shares must be
sold. Assuming that retained earnings for next year's investment are 50 percent of
2017.

(D) What will the marginal cost of capital when the funds exceeds the amount calculated
in (C), assuming new equity is issued at X 20 per share?

SOLUTION
(A) (i) Cost of new debt
I(1-1)

Kd: Pa

16(1-0.5)
= =—=0.0833
96

(i) Cost of new Preference shares
PD 1

K =—=—=0.12
P Po 92

(iii) Cost of new equity shares
K = —1+g
Po

1.18

S5eg +010=005+0.10= 015

Calculation of D,
D, = 50% of 2013 EPS = 50% of 2.36 =¥ 1.18



(B) Calculation of marginal cost of capital

Debenture 0.15 0.0833 0.0125
Preference Share 0.05 0.12 0.0060
Equity Share 0.80 0.15 0.1200

Marginal cost of capital 0.1385

(C) The company can spend the following amount without increasing marginal
cost of capital and without selling the new shares:

Retained earnings = (0.50) (2.36 = 10,000) = ¥ 11,800
The ordinary equity (Retained earnings in this case) is 80% of total capital
11,800 = 80% of Total Capital

. Capitalinvestment before issuing equity = =%14,750

¥11,800
0.80

(D) If the company spends in excess of ¥ 14,750 it will have to issue new shares.

1.18
. Capital investment before issuing equity = 0 +0.10=0.159

The marginal cost of capital will be:

Debentiires 015 | 00833 | 00125

Preference Shares 0.05 0.1200 0.0060
Equity Shares (New) 0.80 0.1590 0.1272
0.1457




SIGNIFICANCE OF THE COST OF CAPITAL

The cost of capital is important to arrive at correct amount and helps the management
or an investor to take an appropriate decision. The correct cost of capital helps in the
following decision making:

0]

(i)

(i)

Evaluation of investment options: The estimated benefits (future cashflows)
from available investment opportunities (business or project) are converted
into the present value of benefits by discounting them with the relevant cost of
capital. Here it is pertinent to mention that every investment option may have
different cost of capital hence it is very important to use the cost of capital which
is relevant to the options available. Here Internal Rate of Return (IRR) is treated
as cost of capital for evaluation of two options (projects).

Performance Appraisal: Cost of capital is used to appraise the performance
of a particulars project or business. The performance of a project or business
in compared against the cost of capital which is known here as cut-off rate or
hurdle rate.

Designing of optimum credit policy: While appraising the credit period to
be allowed to the customers, the cost of allowing credit period is compared

against the benefit/ profit earned by providing credit to customer of segment of
customers. Here cost of capital is used to arrive at the present value of cost and
benefits received.



UNIT-I

Funds are the basic need of every firm to fulfill long term and working capital requirement.
Enterprise raises these funds from long term and short term sources. In this context, capital
structure and financial structure are often used. Capital Structure covers only the long term
sources of funds, whereas financial structure implies the way assets of the company are
financed, i.e. it represents the whole liabilities side of the Position statement, i.e. Balance Sheet,
which includes both long term and long term debt and current liabilities.

Definition of Capital Structure

The combination of long-term sources of funds, i.e. equity capital, preference capital, retained
earnings and debentures in the firm™s capital is known as Capital Structure. It focuses on
choosing such a proposal which will minimize the cost of capital and maximize the earnings per
share. For this purpose a company can opt for the following capital structure mix:

o Equity capital only

o Preference capital only

o Debtonly

o A mix of equity and debt capital.

o A mix of debt and preference capital.

o A mix of equity and preference capital.

o A mix of equity, preference and debt capital in different proportions.

There are certain factors which are referred while choosing the capital structure like, the pattern
opted for capital structure should reduce the cost of capital and increase the returns, the capital
structure mix should contain more of equity capital and less of debt to avoid the financial risk, it
should provide liberty to the business and management to adapt itself according to the changes
and so on.

Definition of Financial Structure

The mix of long term and short term funds employed by the company to procure the assets which
are required for day to day business activities is known as Financial Structure. Trend Analysis
and Ratio Analysis are the two tools used to analyze the financial structure of the company.

The composition of the financial structure represents the whole equity and liabilities side of the
Balance Sheet, i.e. it includes equity capital, preference capital, retained earnings, debentures,
short-term borrowings, account payable, deposits provisions, etc. The following factors are
considered at the time of designing the financial structure:

o Leverage: Leverage can be both positive or negative, i.e. a modest rise in the EBIT will
give a high rise to the EPS but simultaneously it increases the financial risk.



o Cost of Capital: The financial structure should focus on decreasing the cost of capital.
Debt and preference share capital are cheaper sources of finance as compared to equity
share capital.

o Control: The risk of loss and dilution of control of the company should be low.

o Flexibility: Any firm cannot survive if it has a rigid financial composition. So the
financial structure should be such that when the business environment changes structure
should also be adjusted to cope up with the expected or unexpected changes.

« Solvency: The financial structure should be such that there should be no risk of getting

insolvent.

Basisfor Capital Structure Financial Structure

Comparison P
The combination of long term sources off The combination of long term and § ortterm

Meaning funds, which are raised by the business ig financing represents the financial st cture of
known as Capital Structure. the company..

Appearson Under the head Shareholders fund and The whole equities and liabilities side

Balance Sheet | Non-current liabilities.
Equity capital, preference capital| Equity capital, preference capital, retained

Includes retained earnings, debentures, long term| earnings, debentures, long term bor nowings,
borrowings etc. account payable, short term borrowin ¢s etc.

) The capital structure is a section of . . i i
One in another Financial structure includes capital stf cture.

financial structure.

Capitalization

Capitalization is an important constituent of financial plan. In common parlance, the
phrase ,,Capitalization” refers to total amount of capital employed in a business. However,
scholars are not unanimous in so far as capitalization is concerned. The term capitalization
connotes the process of determining the quantum of funds that a firm would require to run its
business. Capitalization is distinct from share capital which refer only to the paid-up value of
shares issued and definitely excludes bonds and other forms of borrowings. Similarly, it should
be distinguished form ,,capital™.